Apudmernka nokaszaresnei (oTpuraTebHble

noxasate)
o Mlava: ___ Onema:__

9% +1= (—7)* +(-3) =

(-1 +5= (4 -3=

(-3)—4= 509 —(-10) =

(-5 —4= 3 —(-5)=

STV (1) = (107"~ (-8) =

3 -3= 37 -3=

9 -2= 7+ (—4) =

7+ (D= (-10)7 +(-4) =

(-7)° —7= 102+ (-9) =

8D 1 4= (—5)°+2=
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g @ @ o Apudmerrka nokasateneit (OTpUIIaTETbHbIE
MTOKAa3aTesIn)

Nwms: Hara: _ Onenka:
P +1=8 (—=7)* +(-3) = 46
47 15
A2 2N = (D
(-1 +5=6 (—4) 3= (1) = (270)
251 1
-2) _(— — 7 —10=
(-3)—4=(-7) 5 (—10) s 1025
(—5)° —4=(-3) 32— (-5)= 14
6 1 79 9
D _py= 2ot 1D ey = 2 77
5 ((h=z=13 (—10) 8 =1""1
26 8
2 _ (2) _q2— (= (h 2
32-3=6 3 3=(5)=023)
92 —-2=179 7%+ (—4) = 45
(~7) +(=7) = 42 (—10) (4= () = C47p)
(—7)> —7=42 152 +(-9) = (-8)
. 33
8V +4= = =42 (-5)°+2=3
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